

On Inequalities involving First Three Moments

Rajesh Sharma and Amrita Thakur

Abstract—We derive inequalities involving first three moments of a discrete random variable defined over a finite interval. The refinements of some known inequalities are obtained. It is shown that the bounds are helpful in locating the extreme roots of a polynomial with all the roots real.

Index Terms— Brunk inequalities, Central moments, Polynomials, roots.

MSC 2010 Codes —60E15, 26C10.

I. INTRODUCTION

Let a discrete random variable is defined over the finite interval $[a, b]$, $a < b$, with probabilities functions p_i ($i = 1, 2, \dots, n$). The central moments and moments about the origin are respectively defined as

$$\mu_r = \sum_{i=1}^n p_i (x_i - \mu'_1)^r \quad (1.1)$$

and

$$\mu'_r = \sum_{i=1}^n p_i x_i^r, \quad (1.2)$$

where $p_i \geq 0$ and

$$\sum_{i=1}^n p_i = 1. \quad (1.3)$$

Let $a \leq x_i \leq b$, then

$$\mu_1'^2 \leq \mu_2' \leq (a + b)\mu_1' - ab \quad (1.4)$$

and

$$a\mu_2' + \frac{(\mu_2' - a\mu_1')^2}{\mu_1' - a} \leq \mu_3' \leq b\mu_2' - \frac{(b\mu_1' - \mu_2')^2}{b - \mu_1'}. \quad (1.5)$$

See [1]-[3], for more details. For the central moments we have

$$\mu_2 \leq (b - \mu_1')(\mu_1' - a) \quad (1.6)$$

and

$$\frac{\mu_2^2 - (\mu_1' - a)^2 \mu_2}{\mu_1' - a} \leq \mu_3 \leq \frac{(b - \mu_1')^2 \mu_2 - \mu_2^2}{b - \mu_1'}. \quad (1.7)$$

For the history and motivation of these inequalities, see [4]-[6].

If x_i ($i = 1, 2, \dots, n$) are arranged in ascending order $x_1 \leq x_2 \leq \dots \leq x_n$ then we also have [7]

$$\mu_2' \geq (x_{j-1} + x_j)\mu_1' - x_{j-1}x_j, \quad (1.8)$$

for $j = 2, 3, \dots, n$. The inequality (1.8) gives a refinement of the first inequality (1.4) for that value of j for which $x_{j-1} \leq \mu_1' \leq x_j$.

We analyze inequalities (1.5) and (1.7) in detail and give refinements and alternative proofs of these inequalities. We obtain a lower bound for the largest root and upper bound for the smallest root of a polynomial equation when all its roots are real. Our bounds compare favorably than those obtained by the Brunk inequalities, see [8]-[9], (Example 1 and 2, below).

II. MAIN RESULTS

Theorem 2.1. Let x_i be arranged in ascending order and $a \leq x_i \leq b$, $i = 1, 2, \dots, n$. Then

$$\mu_3' \leq (x_{j-1} + x_j + b)\mu_2' - (x_{j-1}x_j + x_{j-1}b + x_jb)\mu_1' + x_{j-1}x_jb \quad (2.1)$$

and

$$\mu_3' \geq (a + x_{j-1} + x_j)\mu_2' - (ax_{j-1} + ax_j + x_{j-1}x_j)\mu_1' + ax_{j-1}x_j, \quad (2.2)$$

where $j = 2, 3, \dots, n$.

Proof. If $x_i \leq b$, then

$$(x_i - x_{j-1})(x_i - x_j)(x_i - b) \leq 0 \quad (2.3)$$

for $i = 1, 2, \dots, n$ and $j = 2, 3, \dots, n$. So

$$x_i^3 \leq (x_{j-1} + x_j + b)x_i^2 - (x_{j-1}x_j + x_{j-1}b + x_jb)x_i + x_{j-1}x_jb. \quad (2.4)$$

Multiply both sides of (2.4) by p_i ($i = 1, 2, \dots, n$) and add n inequalities, we get

$$\sum_{i=1}^n p_i x_i^3 \leq (x_{j-1} + x_j + b) \sum_{i=1}^n p_i x_i^2 - (x_{j-1}x_j + x_{j-1}b + x_jb) \sum_{i=1}^n p_i x_i + x_{j-1}x_jb \sum_{i=1}^n p_i. \quad (2.5)$$

Use (1.2) and (1.3), the inequality (2.5) immediately gives the inequality (2.1).

The inequality (2.2) follows on using similar arguments. We note that if $x_i \geq a$, then

$$(x_i - a)(x_i - x_{j-1})(x_i - x_j) \geq 0 \quad (2.6)$$

This work is supported by UGC-SAP.

R. Sharma is with the Department of Mathematics, H.P. University Shimla-5 (Phone no. 0177-2633114, e-mail: rajesh_hpu_math@yahoo.co.in).

A. Thakur is with the Department of Mathematics, H.P. University Shimla-5 (Phone no. 01899-257302, e-mail: sd_hpu_math@yahoo.co.in).

for $i = 1, 2, \dots, n$ and $j = 2, 3, \dots, n$. ■

The inequalities (2.1), (2.2) and (1.5) give the bounds for the third order moment in terms of the first and second order moments. In the following corollary and remark we show that the inequalities (2.1) and (2.2) provide the refinements of the inequalities in (1.5).

Corollary 2.1. The equivalent expressions for (2.1) and (2.2) are

$$\begin{aligned} \mu'_3 \leq & b\mu'_2 - \frac{(b\mu'_1 - \mu'_2)^2}{b - \mu'_1} \\ & + \frac{(\mu'_2 - (x_{j-1} + b)\mu'_1 + x_{j-1}b)(\mu'_2 - (x_j + b)\mu'_1 + x_jb)}{b - \mu'_1} \end{aligned} \quad (2.7)$$

and

$$\begin{aligned} \mu'_3 \geq & a\mu'_2 + \frac{(\mu'_2 - a\mu'_1)^2}{\mu'_1 - a} \\ & - \frac{(\mu'_2 - (a + x_{j-1})\mu'_1 + ax_{j-1})(\mu'_2 - (a + x_j)\mu'_1 + ax_j)}{\mu'_1 - a} \end{aligned} \quad (2.8)$$

respectively, $j = 2, 3, \dots, n$.

Proof. It is evident from (2.1) that

$$\mu'_3 \leq b\mu'_2 - \frac{(b\mu'_1 - \mu'_2)^2}{b - \mu'_1} + \alpha, \quad (2.9)$$

where

$$\begin{aligned} \alpha = & (x_{j-1} + x_j + b)\mu'_2 - (x_{j-1}x_j + x_{j-1}b + x_jb)\mu'_1 \\ & + x_{j-1}x_jb - b\mu'_2 + \frac{(b\mu'_1 - \mu'_2)^2}{b - \mu'_1}. \end{aligned} \quad (2.10)$$

From (2.10), we find that

$$\alpha = \frac{\mu'_2{}^2 + \alpha_1\mu'_2 + \alpha_2}{b - \mu'_1}, \quad (2.11)$$

where

$$\alpha_1 = (x_{j-1} + x_j)(b - \mu'_1) - 2b\mu'_1$$

and

$$\begin{aligned} \alpha_2 = & (x_{j-1}x_j + x_{j-1}b + x_jb + b^2)\mu'_1{}^2 \\ & - (2x_{j-1}x_j + x_{j-1}b + x_jb)b\mu'_1 + b^2x_{j-1}x_j. \end{aligned}$$

A little computation then shows that

$$\alpha = \frac{(\mu'_2 - (x_{j-1} + b)\mu'_1 + x_{j-1}b)(\mu'_2 - (x_j + b)\mu'_1 + x_jb)}{b - \mu'_1}. \quad (2.12)$$

Combining (2.9) and (2.12), we get (2.7).

Similarly, from the inequality (2.2), we have

$$\mu'_3 \leq a\mu'_2 + \frac{(\mu'_2 - a\mu'_1)^2}{\mu'_1 - a} - \beta, \quad (2.13)$$

where

$$\begin{aligned} \beta = & a\mu'_2 + \frac{(\mu'_2 - a\mu'_1)^2}{\mu'_1 - a} - (a + x_{j-1} + x_j)\mu'_2 \\ & + (x_{j-1}a + x_ja + x_{j-1}x_j)\mu'_1 - ax_{j-1}x_j. \end{aligned} \quad (2.14)$$

From (2.14)

$$\beta = \frac{\mu'_2{}^2 + \beta_1\mu'_2 + \beta_2}{\mu'_1 - a}, \quad (2.15)$$

where

$$\beta_1 = (x_{j-1} + x_j)(a - \mu'_1) - 2a\mu'_1$$

and

$$\begin{aligned} \beta_2 = & (x_{j-1}a + x_ja + x_{j-1}x_j + a^2)\mu'_1{}^2 \\ & - (2x_{j-1}x_j + x_{j-1}a + x_ja)a\mu'_1 + a^2x_{j-1}x_j. \end{aligned}$$

So,

$$\beta = \frac{(\mu'_2 - (a + x_{j-1})\mu'_1 + ax_{j-1})(\mu'_2 - (a + x_j)\mu'_1 + ax_j)}{\mu'_1 - a}. \quad (2.16)$$

Combining (2.13) and (2.16), we get (2.8). ■

Remark 2.1. The inequalities in Theorem 2.1 are valid for any $j = 2, 3, \dots, n$. We show that there is one such j ($j = 2, 3, \dots, n - 1$) for which (2.1) provides a refinement of the second inequality (1.5). Similarly, (2.2) provides a refinement of the first inequality (1.5) for at least one j ($j = 3, 4, \dots, n$).

It suffices to show that there is a value of j ($j = 2, 3, \dots, n - 1$) for which $\alpha \leq 0$. From (2.12) we find that $\alpha \leq 0$ if and only if

$$(x_j + b)\mu'_1 - x_jb \leq \mu'_2 \leq (x_{j-1} + b)\mu'_1 - x_{j-1}b \quad (2.17)$$

for at least one $j = 2, 3, \dots, n - 1$. It is clear from (1.8) that $\mu'_2 \geq (x_{n-1} + b)\mu'_1 - x_{n-1}b$, $j = n$. If $\mu'_2 \leq (x_{n-2} + b)\mu'_1 - x_{n-2}b$, then (2.17) is true for $j = n - 1$. If $\mu'_2 \geq (x_{n-2} + b)\mu'_1 - x_{n-2}b$ and $\mu'_2 \leq (x_{n-3} + b)\mu'_1 - x_{n-3}b$, then (2.17) is true for $j = n - 2$, and so on. This means that if μ'_2 lies in the interval $[(x_{n-1} + b)\mu'_1 - x_{n-1}b, (a + b)\mu'_1 - ab]$, then it must also lie in one of the intervals (2.17) for at least one $j = 2, 3, \dots, n - 1$. So $\alpha \leq 0$ for at least one j and hence (2.1) provides a refinement of the second inequality (1.5).

Likewise, it follows from (2.16) that $\beta \leq 0$ if and only if

$$(a + x_{j-1})\mu'_1 - ax_{j-1} \leq \mu'_2 \leq (a + x_j)\mu'_1 - ax_j \quad (2.18)$$

for at least one j ($j = 3, 4, \dots, n$). If μ'_2 lies in the interval $[(a + x_2)\mu'_1 - ax_2, (a + b)\mu'_1 - ab]$, then it also lies in one of the intervals (2.18). So (2.2) gives a refinement of the first inequality (1.5).

Theorem 2.2. For $a \leq x_i \leq b$, we have

$$\mu'_3 \leq (2x_j + b)\mu'_2 - (x_j^2 + 2bx_j)\mu'_1 + x_j^2b \quad (2.19)$$

and

$$\mu'_3 \geq (2x_j + a)\mu'_2 - (x_j^2 + 2ax_j)\mu'_1 + x_j^2 a, \quad (2.20)$$

where $i, j = 1, 2, \dots, n$.

Proof. The proof of the Theorem 2.2 follows on using similar arguments used in the proof of the Theorem 2.1. The inequalities (2.19) and (2.20) follow respectively from the inequalities

$$(x_i - x_j)^2 (x_i - b) \leq 0 \quad (2.21)$$

and

$$(x_i - x_j)^2 (x_i - a) \geq 0, \quad (2.22)$$

for $i, j = 1, 2, \dots, n$. ■

Corollary 2.2. For $x_i \leq b$, ($i = 1, 2, \dots, n$) we have

$$\begin{aligned} \mu'_3 - (\mu'_2)^{3/2} &\leq \frac{4}{27} (x_{j-1} + x_j + b)^3 + x_{j-1} x_j b \\ &\quad - (x_{j-1} x_j + x_{j-1} b + x_j b) \mu'_1 \end{aligned} \quad (2.23)$$

for $j = 2, 3, \dots, n$.

Proof. Subtracting $(\mu'_2)^{3/2}$, on both sides of (2.1), we get

$$\begin{aligned} \mu'_3 - (\mu'_2)^{3/2} &\leq (x_{j-1} + x_j + b)\mu'_2 - (\mu'_2)^{3/2} \\ &\quad - (x_{j-1} x_j + x_{j-1} b + x_j b) \mu'_1 + x_{j-1} x_j b. \end{aligned} \quad (2.24)$$

Let

$$\begin{aligned} f(\mu'_2) &= (x_{j-1} + x_j + b)\mu'_2 - (\mu'_2)^{3/2} \\ &\quad - (x_{j-1} x_j + x_{j-1} b + x_j b) \mu'_1 + x_{j-1} x_j b. \end{aligned} \quad (2.25)$$

The derivative

$$f'(\mu'_2) = (x_{j-1} + x_j + b) - \frac{3}{2} (\mu'_2)^{1/2} \quad (2.26)$$

vanishes at

$$\mu'_2 = \frac{4}{9} (x_{j-1} + x_j + b)^2, \quad (2.27)$$

where $f(\mu'_2)$ has maxima. On substituting value of μ'_2 from (2.27) in (2.24), we get (2.23) on simplifications. ■

The inequalities obtained above involve the first three moments about origin of a discrete random variable. We now prove the inequalities involving the central moments.

Theorem 2.3. For $a \leq x_i \leq b$, $i = 1, 2, \dots, n$, we have

$$\begin{aligned} \mu_3 &\leq (x_{j-1} - \mu'_1)(x_j - \mu'_1)(b - \mu'_1) \\ &\quad + (x_{j-1} + x_j + b - 3\mu'_1)\mu_2 \end{aligned} \quad (2.28)$$

and

$$\begin{aligned} \mu_3 &\geq (\mu'_1 - a)(\mu'_1 - x_{j-1})(x_j - \mu'_1) \\ &\quad + (a + x_{j-1} + x_j - 3\mu'_1)\mu_2 \end{aligned} \quad (2.29)$$

for $j = 2, 3, \dots, n$.

Proof. From (2.1) and (2.2), we respectively have

$$\begin{aligned} \mu'_3 - \mu_1'^3 &\leq (x_{j-1} - \mu'_1)(x_j - \mu'_1)(b - \mu'_1) \\ &\quad + (x_{j-1} + x_j + b)\mu_2 \end{aligned} \quad (2.30)$$

and

$$\begin{aligned} \mu'_3 - \mu_1'^3 &\geq (\mu'_1 - a)(\mu'_1 - x_{j-1})(x_j - \mu'_1) \\ &\quad + (a + x_{j-1} + x_j)\mu_2, \end{aligned} \quad (2.31)$$

for $j = 2, 3, \dots, n$.

We use the well known relations

$$\mu'_2 = \mu_2 + \mu_1'^2 \quad (2.32)$$

and

$$\mu'_3 = \mu_3 + 3\mu_1'\mu_2 + \mu_1'^3. \quad (2.33)$$

Then (2.28) and (2.29) follow respectively from (2.30) and (2.31). ■

Corollary 2.3. The equivalent expressions for (2.28) and (2.29) are

$$\begin{aligned} \mu_3 &\leq \frac{(b - \mu'_1)^2 \mu_2 - \mu_2^2}{b - \mu'_1} \\ &\quad + \frac{(\mu_2 - (b - \mu'_1)(\mu'_1 - x_{j-1}))(\mu_2 - (b - \mu'_1)(\mu'_1 - x_j))}{b - \mu'_1} \end{aligned} \quad (2.34)$$

and

$$\begin{aligned} \mu_3 &\geq \frac{\mu_2^2 - (\mu'_1 - a)^2 \mu_2}{\mu'_1 - a} \\ &\quad - \frac{(\mu_2 - (\mu'_1 - a)(x_j - \mu'_1))(\mu_2 - (\mu'_1 - a)(x_{j-1} - \mu'_1))}{\mu'_1 - a} \end{aligned} \quad (2.35)$$

respectively, for $j = 2, 3, \dots, n$.

Proof. The inequality (2.28) can be written as

$$\mu_3 \leq \frac{(b - \mu'_1)^2 \mu_2 - \mu_2^2}{b - \mu'_1} + \gamma, \quad (2.36)$$

where

$$\begin{aligned} \gamma &= (x_{j-1} - \mu'_1)(x_j - \mu'_1)(b - \mu'_1) \\ &\quad + (x_{j-1} + x_j + b - 3\mu'_1)\mu_2 - \frac{(b - \mu'_1)^2 \mu_2 - \mu_2^2}{b - \mu'_1}. \end{aligned} \quad (2.37)$$

On simplification, we get

$$\gamma = \frac{(\mu_2 - (b - \mu'_1)(\mu'_1 - x_{j-1}))(\mu_2 - (b - \mu'_1)(\mu'_1 - x_j))}{b - \mu'_1}. \quad (2.38)$$

Combining (2.36) and (2.38), we get (2.34).

From the inequality (2.29), we have

$$\mu_3 \geq \frac{\mu_2^2 - (\mu'_1 - a)^2 \mu_2}{\mu'_1 - a} - \delta \quad (2.39)$$

where

$$\delta = \frac{\mu_2^2 - (\mu_1' - a)^2 \mu_2}{\mu_1' - a} - (\mu_1' - a)(\mu_1' - x_{j-1})(x_j - \mu_1') - (a + x_{j-1} + x_j - 3\mu_1')\mu_2. \quad (2.40)$$

On simplification we get

$$\delta = \frac{(\mu_2 - (\mu_1' - a)(x_j - \mu_1'))(\mu_2 - (\mu_1' - a)(x_{j-1} - \mu_1'))}{\mu_1' - a}. \quad (2.41)$$

Combining (2.39) and (2.41), we get (2.35). ■

Remark 2.2. The inequalities in Theorem 2.3 provide the refinements of the inequalities in (1.7).

III. AN APPLICATION

As an immediate application we obtain bounds for the largest and smallest root of a polynomial equation when all the roots of the polynomial are real. We give examples to show that our bounds give better estimates than those given by the Brunk inequalities. Consider the n^{th} degree monic polynomial equation

$$f(x) = x^n + a_1 x^{n-1} + \dots + a_{n-1} x + a_n = 0 \quad (3.1)$$

with all the roots real. Let x_1, x_2, \dots, x_n be the roots of (3.1). Then by Vieta's formula,

$$\sum_{i=1}^n x_i = -a_1, \quad (3.2)$$

and

$$\sum_{i<j}^n x_i x_j = a_2. \quad (3.3)$$

Let \bar{x} be the mean and S^2 be the variance of the n roots x_1, x_2, \dots, x_n . It follows from (3.2) and (3.3) that

$$\bar{x} = \frac{-a_1}{n}, \quad (3.4)$$

$$S^2 = \frac{(n-1)a_1^2 - 2na_2}{n^2} \quad (3.5)$$

and

$$\mu_2' = S^2 + \bar{x}^2 = \frac{1}{n}(a_1^2 - 2a_2). \quad (3.6)$$

Laguerre proved that [8],

$$\frac{-a_1}{n} - S\sqrt{n-1} \leq x_j \leq \frac{-a_1}{n} + S\sqrt{n-1} \quad (3.7)$$

for $j = 1, 2, \dots, n$.

Let a be the smallest and b be the largest root of $f(x) = 0$. Then Brunk inequalities [9] give

$$b \geq \bar{x} + \frac{S}{\sqrt{n-1}} \quad (3.8)$$

and

$$a \leq \bar{x} - \frac{S}{\sqrt{n-1}}. \quad (3.9)$$

Lemma 3.1. Let x_i ($i = 1, 2, \dots, n$) be the roots of the polynomial equation (3.1). Then

$$\sum_{i=1}^n x_i^3 = -a_1^3 + 3a_1 a_2 - 3a_3. \quad (3.10)$$

Proof. On using well known Newton's identity, we have

$$\sum_{i=1}^n x_i^3 = (\sum_{i=1}^n x_i)^3 - 3 \sum_{i=1}^n x_i \sum_{i<j}^n x_i x_j + 3 \sum_{i<j<k}^n x_i x_j x_k. \quad (3.11)$$

Use the relations between roots and coefficients of polynomial equation (3.1), we have

$$\sum_{i<j<k}^n x_i x_j x_k = -a_3. \quad (3.12)$$

Combining (3.2), (3.3) and (3.12) with (3.11), we get (3.10). ■

Example 1. Let

$$f(x) = x^5 - 4x^4 - 66x^3 + 64x^2 + 1025x + 900. \quad (3.13)$$

Let $x_1 \leq x_2 \leq \dots \leq x_5$ be the roots of the polynomial equation (3.13). On using the relations between the roots and coefficients of a polynomial equation, we have

$$\mu_1' = \frac{1}{5} \sum_{i=1}^5 x_i = \frac{4}{5}, \quad (3.14)$$

$$\mu_2' = \frac{1}{5} \sum_{i=1}^5 x_i^2 = \frac{148}{5} \quad (3.15)$$

and

$$\mu_3' = \frac{1}{5} \sum_{i=1}^5 x_i^3 = \frac{664}{5}. \quad (3.16)$$

Substituting the values of μ_1' , μ_2' and μ_3' respectively from (3.14), (3.15) and (3.16) in first inequality (1.5), we find that

$$181x_1^2 - 682x_1 - 4812 \geq 0. \quad (3.17)$$

Here x_1 is the smallest root of $f(x) = 0$. From (3.17) either $x_1 \geq 7.3735$ or $x_1 \leq -3.6055$. Since $x_1 \not\geq 7.3735$, we conclude that $x_1 \leq -3.6055$.

Likewise, it follows from the second inequality (1.5) that

$$181x_5^2 - 682x_5 - 4812 \geq 0. \quad (3.18)$$

Here x_5 is the largest root of $f(x) = 0$. From (3.18) either $x_5 \geq 7.3735$ or $x_5 \leq -3.6055$. Since $x_5 \not\leq -3.6055$, we must have $x_5 \geq 7.3735$.

From the Brunk inequalities (3.8) and (3.9), we respectively have $x_5 \geq 3.4904$ and $x_1 \leq -1.8907$. The inequalities in (1.5) give better estimates for the largest and smallest roots of

$f(x) = 0$. The roots of $f(x) = 0$ are $-5, -4, -1, 5$ and 9 . ■

Example 2. Let

$$g(x) = x^5 - 17x^3 + 12x^2 + 52x - 48. \quad (3.19)$$

Let $x_1 \leq x_2 \leq \dots \leq x_5$ be the roots of the polynomial equation (3.19). On using the relations between the roots and coefficients of a polynomial equation, we have

$$\mu'_1 = \frac{1}{5} \sum_{i=1}^5 x_i = 0, \quad (3.20)$$

$$\mu'_2 = \frac{1}{5} \sum_{i=1}^5 x_i^2 = \frac{34}{5} \quad (3.21)$$

and

$$\mu'_3 = \frac{1}{5} \sum_{i=1}^5 x_i^3 = -\frac{36}{5}. \quad (3.22)$$

Substituting the values of μ'_1, μ'_2 and μ'_3 respectively from (3.20), (3.21) and (3.22) in first inequality (1.5), we find that

$$85x_1^2 + 90x_1 - 578 \geq 0. \quad (3.23)$$

Here x_1 is the smallest root of $g(x) = 0$. From (3.23) either $x_1 \geq 2.1315$ or $x_1 \leq -3.1903$. Since $x_1 \not\geq 2.1315$, we conclude that $x_1 \leq -3.1903$.

Likewise, it follows from the second inequality (1.5) that

$$85x_5^2 + 90x_5 - 578 \geq 0. \quad (3.24)$$

Here x_5 is the largest root of $g(x) = 0$. From (3.24) either $x_5 \geq 2.1315$ or $x_5 \leq -3.1903$. Since $x_5 \not\leq -3.1903$, we must have $x_5 \geq 2.1315$.

From the Brunk inequalities (3.8) and (3.9), we respectively have $x_5 \geq 1.3038$ and $x_1 \leq -1.3038$. The inequalities in (1.5) give better estimates for the largest and smallest roots of $g(x) = 0$. The roots of $g(x) = 0$ are $-4, -2, 1, 2$ and 3 . ■

REFERENCES

- [1] A.J. Goldman, A generalisation of Rennie's inequality, *J. Res. Nat. Bur. Standards Sect. B*, 68B, 59-63, (1964).
- [2] R. Sharma, S. Devi, G. Kapoor, S. Ram and N.S. Barnett, A brief note on some bounds connecting lower order moments for random variables defined on a finite interval, *International J. of Theoretical and Applied Sciences*, 1(2), 83-85, (2009).
- [3] R. Sharma, M. Gupta and G. Kapoor, Some better bounds on the variance with applications, *Journal of Mathematical Inequalities*, 4, 355-363, (2010).
- [4] S.T. Jensen, The Laguerre Samuelson inequality with extensions and applications in Statistics and Matrix Theory, M.Sc. Thesis, Department of Mathematics and Statistics, McGill University, Montreal, Canada, (1999).
- [5] A.W. Marshall and I. Olkin, Reversal of Lyapunov, Holder and Minkowski inequalities and other extensions of the Kantorovich inequality, *J. Math. Anal. Appl.*, 8, 503-514, (1963).
- [6] B.C. Rennie, On a class of inequalities, *J. Austral. Math. Soc.*, 3, 442-448, (1963).
- [7] R. Sharma, R.G. Shandil, S. Devi and M. Dutta, Some inequalities between Moments of Probability distributions, *Journal of Inequalities in Pure and Applied Mathematics*, No. 5, Article 86, (2004).

- [8] E.N. Laguerre, Sur une Methode pour Obtenir par approximation les racines d'une equation algebrique qui a toutes ses racines reelles [in French]. *Nouvelles Annales de Mathematiques (Paris)*, 2e Serie 19: 161-171 and 193-202, (1880) [JFM 12: 71].
- [9] H.D. Brunk, Note on two papers of K.R. Nair, *Journal of the Indian Society of Agricultural Statistics*, 11, 186-189, (1959).